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3. EBAERT—-HFL—R (SG)

1|l &% (1H62) |S63.3.15 B — 3,520,908,200
2 |W Y (1H63) [H1.3.21 A B AT M 5,631,813,700
30 B m (ED |H2.2.12 Bom E & 8,099,369,400
4 | & (F2) |H3.2.14 B om F E 8,838,704,800
5 Il H (E30) |H4.2.4 TS N 3,100,036,800
6 |U% ks (F4) |H5.2.11 BB fE B 8,344,464,700
7 |8 & (F5) |H6.2.15 Bom F K 7,091,053,400
8 |1 i (CF6) [H7.3.1 oM B & 6,396,707,900
9 |t B Iw (ED |H8.2.13 F ¥ ] 7,877,023,700
10 [ & (F8) |H9.3.23 BB fE B 6,338,747,200
11 I H (F9) |H10.25 B £ A 7,055,456,700
12 | f (F10) |H11.216 (& W & 4,977,819,200
13 |8} B (F1D) |H12.215 | B E 4,636,429,300
14 M (F12) [H13.214  |i ¥ 5 4,651,071,900
15 |t B & (F13) |H14.3.6 i) i H 4,138,877,500
16 |fin % (F14) |H15.3.2 # Lz 15 3,402,380,900
17 i A (F15) |H16.3.21 -1 i H 3,085,209,100
18 |i% ky (F16) |H17.3.21 B B A 2,526,094,900
19 |#% B (F17) |H18.3.21 fi] il IS 2,262,310,300
20 |11 oo CF1e) |H19.2.12 |t & K 2,801,540,500
21 | fa (F19) |H20.2.11 H i H 2,614,684,900
22 | & (F20) |H21.215 |’k H K 4t 2,733,408,000
23 | % & (F21) [H22.215 |4 il 2,060,781,000
24 B B R (F22) [H23.213 @ 1 " 1,969,249,800
25 |1l By (F23) [H24.212 (F & K @ 1,794,115,600
26 |t & (F24) |H25.213 |k  H K 4t 1,639,508,400
27 | 2 (F25) [H26.2.11 wWoom {5 1,484,698,200
28 |1 kB (F26) |H27.211 (& + K 1,495,953,600
29 |l B (F27) |H28.2.14 | A R A 1,410,540,900
30 )1l mo(F28) [H28.10.10 |8 A £ — 1K 1,476,908,600
31 | &% (F29) [H30.1.10 &5 K — BB 1,450,161,000
32 | # (¥30) |H30.10.8 ] OK £ — RS 1,271,337,500
33 | o (FD |[R1.1015 8% K = — % 1,295,832,300
34 | k(72 |R3.2.23 b 2 S 1,447,987,100
35 | B (%3 |R3.9.26 # W A F 1,430,514,800
36 | ko (74 |Rb.2.26 oK £ — B 1,525,359,700




